\$190,000.00

### BID SUMMARY October 3, 2011

# 1. No. CC100311-02.1 - 2011 Manhole Adjustment Project, Project No. ST11-1970 / CIP No. 50846 (Opened on September 27, 2011)

ADVERTISING AUTHORITY	\$35,000.00
ENGINEER'S ESTIMATE – Base Bid	\$27,500.00
ENGINEER'S ESTIMATE – Alternate 1	\$11,785.00

1. Simon Contractors of SD, Inc.\*\*

Base Bid Alternate 1

\$55,400.00 \$21,920.00

ADVERTISING AUTHORITY

# 2. No. CC100311-02.2 - Fire Station #4 Addition, Project No. FD-1953 / CIP 50883 (Opened on September 27, 2011)

1. Semmler Manufacturing, Inc. DBA Semmler Construction** 2. Heavy Constructors, Inc. **	\$210,470.00
1. Complex Manufacturing Inc. DDA Complex Construction**	Base Bid
<b>y</b> '	\$209,900.00
2. Heavy Constructors, Inc.**	\$262,000.00
3. DHD Construction, Inc.**	\$249,000.00
4. R.C.S. Construction, Inc.**	\$202,000.00
5. J Scull Construction Services, Inc.**	\$315,700.00

<sup>\*</sup> Cashier's Check, Money Order or Bank Draft Submitted

<sup>\*</sup> Cashier's Check, Money Order or Bank Draft Submitted

<sup>\*\*</sup> Bid Bond Submitted

<sup>\*\*</sup> Bid Bond Submitted

### **BID AWARD SUMMARY**

LETTING DATE: September 27, 2011

PROJECT: 2011 Manhole Adjustment Project

Project No. ST11-1970 / CIP No. 50846

**RECOMMENDATION:** City staff recommends all bids for this project be rejected at the October 03, 2011Council Meeting and authorize staff to re-advertise for bids.

City Staff has evaluated the bid for this project and has determined that it is not in the best interest of the City to award this project at this time. City Staff recommends re-bidding this project at a later date with modifications to the project schedule.

### **BIDDER'S SUMMARY**

**CONTRACTORS** 

Simon Contractors of SD, Inc.

**TOTAL BASE BID** 

\$55,400.00

\*\*TOTAL ALT 1 BID \$21,920.00

**FUNDING SOURCE** 

ADVERTISING AUTHORITY ENGINEER'S ESTIMATE BASE BID ENGINEER'S ESTIMATE ALTERNATE 1

TOTAL	Sewer Improvements
\$35,000.00	\$35,000.00
\$27,500.00	\$27,500.00
\$11,785.00	\$11,785.00

PROJECT MANAGER:

Paul Faiman

DATE: 9/28/2011

PROJECT NAME: 2011 MANHOLE ADJUSTMENT PROJECT

PROJECT NUMBER: PROJECT NO. SS11-1970 / CIP NO. 50846

LET DATE: SEPTEMBER 27, 2011

LOW BID AMOUNT: \$55,400.00

				ENGINEER'S ESTIMATE		SIMON CONTRACTORS OF SD INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIŢ	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	BASE BID	E				<u>.</u>	
11	MOBILIZATION	LS	1.00	\$2,500.00	<b>\$2,</b> 500.00	\$2,500.00	\$2,500.00
2	SAW & REMOVE ASPHALT PAVEMENT	SY	110.00	\$20.00	\$2,200.00	\$60.00	\$6,600.00
3	DIGOUTS W/ BASE COURSE	CY	5.00	\$75.00	\$375.00	\$280.00	\$1,400.00
4	ADJUST MANHOLE FRAME & COVER	EA	30.00	\$250.00	\$7,500.00	\$300.00	\$9,000.00
5	F & I MANHOLE FRAME & COVER	EA	5.00	\$500.00	\$2,500.00	\$750.00	\$3,750.00
6	F & I MANHOLE CHIMNEY SEAL	EA	2.00	\$350.00	\$700.00	\$450.00	\$900.00
7	F & I CHIMNEY SEAL EXTENSION	EA	2.00	\$150.00	\$300.00	\$250.00	\$500.00
8	BASE COURSE	TN	35.00	\$30.00	\$1,050.00	\$290.00	\$10,150.00
9	ASPHALT PAVEMENT	TN	30.00	\$250.00	\$7,500.00	\$470.00	\$14,100.00
10	INCIDENTAL	LS	1.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
11	INLET PROTECTION	EA	5.00	\$75.00	\$375.00	\$400.00	\$2,000.00
	Total Base Bid				\$27,500.00		\$55,400.00

	Total Alternate NO. 1				\$11,785.00		\$21,920.00
ALT 1-10	INCIDENTAL	LS	1.00	\$1,000.00	\$1,000.00	\$1,750.00	<b>\$1,75</b> 0.00
ALT 1-9	ASPHALT PAVEMENT	TN	10.00	\$250.00	\$2,500.00	\$470.00	\$4,700.00
ALT 1-8	BASE COURSE	TN	12.00	\$30.00	\$360.00	\$290.00	\$3,480.00
ALT 1-7	F & I CHIMNEY SEAL EXTENSION	EA	4.00	\$150.00	\$600.00	\$250.00	\$1,000.00
ALT 1-6	F & I MANHOLE CHIMNEY SEAL	EA	4.00	\$350.00	\$1,400.00	\$450.00	\$1,800.00
ALT 1-5	F & I MANHOLE FRAME & COVER	EA	3.00	\$500.00	\$1,500.00	\$750.00	\$2,250.00
ALT 1-4	ADJUST MANHOLE FRAME & COVER	EA	10.00	\$250.00	\$2,500.00	\$300.00	\$3,000.00
ALT 1-3	DIGOUTS W/ BASE COURSE	CY	3.00	\$75.00	\$225.00	\$280.00	\$840.00
ALT 1-2	SAW & REMOVE ASPHALT PAVEMENT	SY	35.00	\$20.00	\$700.00	\$60.00	\$2,100.00
ALT 1-1	MOBILIZATION	LS	1,00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	Alternate NO. 1						

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Paul Faiman

Project Manager

Date